Identification: 
Medicolegal = ML 

Identification is only complete when you know the person's name and identity.

Finger print

The most important method of identification is Dactylography (Finger prints). It is  even more important than DNA. MCQ
Iris print

The most important disadvantage in iris prints is the lack of a large database. Iris prints are mainly used in access for computers and companies. It can be altered by iridectomy or lasek procedures.  

DNA prints

There might be mixing of someone else's DNA like the pathologist's DNA if it wasn't done carefully.

Age identification:

In teeth growth the Canine comes out after the first molar and falls after the first and second (milk) molars.
At the age of 18 months the person has 16 teeth 

At the age of 24 months he has 20 teeth

At the age of 6 years he has 24 teeth 

At the age of 12 he has 28 teeth 

From 16-25 the wisdom teeth start to erupt, so at 21~ the person has 32 teeth.

Fusion of bones occurs at the same time in males and females before puberty, but after puberty the fusion in females occurs 2 years earlier. From 13 years and older the female bone unite faster.
FEmale= 2 letters more than male, so 2 years.

All the numbers for fusion of bones in the booklet are for males. If we want to know the age for females we deduct 2 years e.g. ilium, ischium, and pubic bones unite at age 15 in males and at age 13 in females. 

Some ages of medicolegal importance: 

18 years old: age for work and license.

Sex identification: 
The most certain evidence for sex identification are the ovaries and testes.

MCQ

Sagittal sutures closes at :

a. Twenty years

b. Thirty years

c. Forty years

d. Fifty years . 
Presence of canine in a child indicates that the child is :

a. Below 6 months

b. Above 6 months and below 12 months

c. Above 12 months and below 18 months

d. Above 18 months
First permanent tooth appears at age of :

a. 6 months

b. 6 years
Age of 16 years old female is estimated by X-ray on:

a. Ankle joint
b. Humerus

c. Wrist joint

d. Elbow joint
Fusion of all parts of femur in males complete at age of :

a. 18 years

b. 21 years
The age of discrimination is :

a. Six years

b. Seven years
Eruption of permanent teeth occurs between :

a.6 -15 years.

X-ray for 21 female will show fusion of

a. Iliac crest

b. Iliac tuberosity
The weakest point in iris print is :

a. Fear

b. Cataract

c. Availability of the device

d. No large databases
Foot prints are most commonly used for:

a. Trailing the enemies in desert.

b. None mixing of infants in Hospitals.

c. Solving of crimes.
PM Identification is difficult in cases of:

a. severe burns.

b. severe putrefaction.

c. multiple stab wounds.

d. complete charring.

e. absence of the head (decapitation)
??

Reliable evidence of sex :

a. Ovaries and testes

b. External genitalia

c. Sex hormones

d. Hair distribution

Trans-sexuality means :

a. Conflict between gender and physical sex

b. Male hermaphrodite

c. Female hermaphrodite

d. None of the above

Complete identification means identification of :

a. Sex and age

b. Individuality
the coronal suture closes at :

a- three yrs

b- 23 yrs

c- 45 yrs

d- 40 yrs

e- None of the above
ML examination of teeth helps in :

a- Identification

b- Estimation of age

c- Diagnosis of some poisons

d- All of the above

e- None of the above
the last tooth to erupt in adult is the:

a- 1st molar

b- Canine

c- Lateral incisor

d- 2nd molar

e- 3rd molar

A full set of milk teeth is formed of:

a- 16 teeth

b- 20 teeth

c- 12 teeth

d- 24 teeth

e- 32 teeth
The age of child with 24 teeth is:

a- Above 12 yrs & below 18 yrs

b- Above 6 months and below 24 m.

c- Above 2 yrs and below 12 yrs

d- Above 6 yrs and below 12 yrs 

e- Above 12 yrs and below 25 yrs
  The frontal suture closes at:

a- 40 yrs

b- 23 yrs

c- 25 yrs

d- 2 yrs

e- 50 yrs
The best bone of determening sex are:

a- skull

b- sternum

c- humerous

d- pelvis

e- sacum
Age of 21 yrs in male is estimated by X- ray on:

a- Hands

b- Wrist J.

c- Elbow J.

d- Knee J.
e- Ankle J.
Union of epiphysis in 21 yrs old female occurs in:

a- Iliac crest

b- Sternal end of clavicle

c- Basi-occuput with basi-sphenoid

d- All of the above
e- None
The first permenant teeth to erupt are:

a- Central incisors

b- Lateral incisors

c- Canines

d- First molar

e- First premolar
In rape, the age of concent is:

a- 16 yrs

b- 18 yrs

c- 21 yrs

d- 30 yrs

e- None of the above
I am not sure about this answer, what I know is 16 and in the booklet the age of marriage for female is 16 :S but from an older MCQs answer they said 18.
Blue line on the gum indicates poisoning with:
a.Lead

b.Mercury

c.Arsenic

d.Cadmium

Finger prints can be permanently altered by:
a. Eczema. 
b.Leprosy. 
c. Psoriasis. 
d.Scleroderma.

The commonest type of finger print pattern :
a. Loops. 
b. Whorls.
c. Arches.
d.Composite.


if there are any notes contact me 
b.m.assery@gmail.com 

どかり
